
01

02

03

06

07

08

10

11

04

05

09

12

www.stac.es© Sistemas Técnicos del Accesorio y Componentes, S.L.; Padrón 2018

SYSTEM STB-REM

CONSTRUCTION DETAILS

T
h
i
s
 
i
n
f
o
r
m

a
t
i
o
n
 
i
s
 
f
o
r
 
c
o
n
c
e
p
t
u
a
l

u
s
e
 
o
n
l
y
,
 
a
n
d
 
i
t
 
m

a
y
 
c
h
a
n
g
e
.

A
n
y
 
u
n
a
u
t
h
o
r
i
s
e
d
 
r
e
p
r
o
d
u
c
t
i
o
n
,
 
d
i
s
t
r
i
b
u
t
i
o
n
,
 
p
u
b
l
i
c

c
o
m

m
u
n
i
c
a
t
i
o
n
 
a
n
d
/
o
r
 
t
r
a
n
s
f
o
r
m

a
t
i
o
n
 
o
f
 
t
h
i
s
 
d
o
c
u
m

e
n
t

c
o
n
s
t
i
t
u
t
e
s
 
a
 
c
o
p
y
r
i
g
h
t
 
v
i
o
l
a
t
i
o
n
.

S
T

A
C

®

 
i
s
 
n
o
t
 
r
e
s
p
o
n
s
i
b
l
e
 
f
o
r
 
i
t
s
 
u
s
e
 
w

h
i
c
h
 
i
s
,
 
i
n
 
a
n
y
 
c
a
s
e
,

i
n
t
e
n
d
e
d
 
f
o
r
 
e
v
a
l
u
a
t
i
o
n
 
b
y
 
t
e
c
h
n
i
c
a
l
l
y
 
s
k
i
l
l
e
d
 
p
e
r
s
o
n
s
,
 
a
n
d
 
i
t

i
s
 
s
u
b
j
e
c
t
 
t
o
 
t
h
e
i
r
 
o
w

n
 
d
i
s
c
r
e
t
i
o
n
 
a
n
d
 
r
i
s
k
.

REV 08/18

1  VERTICAL SECTION HORIZONTAL JOINT

2  VERTICAL SECTION LOWER CLADDING END

3  VERTICAL SECTION PARAPET RETURN

7  HORIZONTAL SECTION OUTER CORNER

5  VERTICAL SECTION WINDOWS SILL

6  HORIZONTAL SECTION VERTICAL JOINT

4  VERTICAL SECTION WINDOW HEAD

9  HORIZONTAL SECTION WINDOW JAMB

10  HORIZONTAL SECTION ROUNDED CORNER

11  HORIZONTAL SECTION LATERAL CLADDING END

8  HORIZONTAL SECTION INNER CORNER

12  VERTICAL SECTION CEILING



5
 
-
 
2
0
 
m

m

63 ... 273 mm

3

6

1

7

8

5

2

4

SECCIÓN VERTICAL

1:2 (A4)

HORIZONTAL JOINT BIDIRECTIONAL REM..01.01

REV 08/18

SYSTEM STB-REM

1  STACBOND panel

2  Upright profile OMEGA

3  Spacer DOUBLE T

7  Blind rivet

8  Self-drilling screw

6  Though screw M 6 x 60/70

4  Crossbar profile OMEGA

5  Studs joining STB-REM

9  Auxiliar profile

10  Water drainage holes

11  Aluminium plate for fixing and riveting

www.stac.es© Sistemas Técnicos del Accesorio y Componentes, S.L.; Padrón 2018

CONSTRUCTION DETAILS

T
h
i
s
 
i
n
f
o
r
m

a
t
i
o
n
 
i
s
 
f
o
r
 
c
o
n
c
e
p
t
u
a
l

u
s
e
 
o
n
l
y
,
 
a
n
d
 
i
t
 
m

a
y
 
c
h
a
n
g
e
.

A
n
y
 
u
n
a
u
t
h
o
r
i
s
e
d
 
r
e
p
r
o
d
u
c
t
i
o
n
,
 
d
i
s
t
r
i
b
u
t
i
o
n
,
 
p
u
b
l
i
c

c
o
m

m
u
n
i
c
a
t
i
o
n
 
a
n
d
/
o
r
 
t
r
a
n
s
f
o
r
m

a
t
i
o
n
 
o
f
 
t
h
i
s
 
d
o
c
u
m

e
n
t

c
o
n
s
t
i
t
u
t
e
s
 
a
 
c
o
p
y
r
i
g
h
t
 
v
i
o
l
a
t
i
o
n
.

S
T

A
C

®

 
i
s
 
n
o
t
 
r
e
s
p
o
n
s
i
b
l
e
 
f
o
r
 
i
t
s
 
u
s
e
 
w

h
i
c
h
 
i
s
,
 
i
n
 
a
n
y
 
c
a
s
e
,

i
n
t
e
n
d
e
d
 
f
o
r
 
e
v
a
l
u
a
t
i
o
n
 
b
y
 
t
e
c
h
n
i
c
a
l
l
y
 
s
k
i
l
l
e
d
 
p
e
r
s
o
n
s
,
 
a
n
d
 
i
t

i
s
 
s
u
b
j
e
c
t
 
t
o
 
t
h
e
i
r
 
o
w

n
 
d
i
s
c
r
e
t
i
o
n
 
a
n
d
 
r
i
s
k
.

01



5
 
-
 
2
0
 
m

m

63 ... 273 mm

3

6

1

7

2

SECCIÓN VERTICAL

1:2 (A4)

HORIZONTAL JOINT UNIDIRECCIONAL REM..01.02

REV 08/18

SYSTEM STB-REM

1  STACBOND panel

2  Upright profile OMEGA

3  Spacer DOUBLE T

7  Blind rivet

8  Self-drilling screw

6  Though screw M 6 x 60/70

4  Crossbar profile OMEGA

5  Studs joining STB-REM

9  Auxiliar profile

10  Water drainage holes

11  Aluminium plate for fixing and riveting

www.stac.es© Sistemas Técnicos del Accesorio y Componentes, S.L.; Padrón 2018

CONSTRUCTION DETAILS

T
h
i
s
 
i
n
f
o
r
m

a
t
i
o
n
 
i
s
 
f
o
r
 
c
o
n
c
e
p
t
u
a
l

u
s
e
 
o
n
l
y
,
 
a
n
d
 
i
t
 
m

a
y
 
c
h
a
n
g
e
.

A
n
y
 
u
n
a
u
t
h
o
r
i
s
e
d
 
r
e
p
r
o
d
u
c
t
i
o
n
,
 
d
i
s
t
r
i
b
u
t
i
o
n
,
 
p
u
b
l
i
c

c
o
m

m
u
n
i
c
a
t
i
o
n
 
a
n
d
/
o
r
 
t
r
a
n
s
f
o
r
m

a
t
i
o
n
 
o
f
 
t
h
i
s
 
d
o
c
u
m

e
n
t

c
o
n
s
t
i
t
u
t
e
s
 
a
 
c
o
p
y
r
i
g
h
t
 
v
i
o
l
a
t
i
o
n
.

S
T

A
C

®

 
i
s
 
n
o
t
 
r
e
s
p
o
n
s
i
b
l
e
 
f
o
r
 
i
t
s
 
u
s
e
 
w

h
i
c
h
 
i
s
,
 
i
n
 
a
n
y
 
c
a
s
e
,

i
n
t
e
n
d
e
d
 
f
o
r
 
e
v
a
l
u
a
t
i
o
n
 
b
y
 
t
e
c
h
n
i
c
a
l
l
y
 
s
k
i
l
l
e
d
 
p
e
r
s
o
n
s
,
 
a
n
d
 
i
t

i
s
 
s
u
b
j
e
c
t
 
t
o
 
t
h
e
i
r
 
o
w

n
 
d
i
s
c
r
e
t
i
o
n
 
a
n
d
 
r
i
s
k
.

01



5
 
-
 
2
0
 
m

m

63 ... 273 mm

3

6

1

7

8

5

2

4

10 9

7

SECCIÓN VERTICAL

1:2,5 (A4)

LOWER CLADDING END REM..02.01

REV 08/18

SYSTEM STB-REM

1  STACBOND panel

2  Upright profile OMEGA

3  Spacer DOUBLE T

7  Blind rivet

8  Self-drilling screw

6  Though screw M 6 x 60/70

4  Crossbar profile OMEGA

5  Studs joining STB-REM

9  Auxiliar profile

10  Water drainage holes

11  Aluminium plate for fixing and riveting

www.stac.es© Sistemas Técnicos del Accesorio y Componentes, S.L.; Padrón 2018

CONSTRUCTION DETAILS

T
h
i
s
 
i
n
f
o
r
m

a
t
i
o
n
 
i
s
 
f
o
r
 
c
o
n
c
e
p
t
u
a
l

u
s
e
 
o
n
l
y
,
 
a
n
d
 
i
t
 
m

a
y
 
c
h
a
n
g
e
.

A
n
y
 
u
n
a
u
t
h
o
r
i
s
e
d
 
r
e
p
r
o
d
u
c
t
i
o
n
,
 
d
i
s
t
r
i
b
u
t
i
o
n
,
 
p
u
b
l
i
c

c
o
m

m
u
n
i
c
a
t
i
o
n
 
a
n
d
/
o
r
 
t
r
a
n
s
f
o
r
m

a
t
i
o
n
 
o
f
 
t
h
i
s
 
d
o
c
u
m

e
n
t

c
o
n
s
t
i
t
u
t
e
s
 
a
 
c
o
p
y
r
i
g
h
t
 
v
i
o
l
a
t
i
o
n
.

S
T

A
C

®

 
i
s
 
n
o
t
 
r
e
s
p
o
n
s
i
b
l
e
 
f
o
r
 
i
t
s
 
u
s
e
 
w

h
i
c
h
 
i
s
,
 
i
n
 
a
n
y
 
c
a
s
e
,

i
n
t
e
n
d
e
d
 
f
o
r
 
e
v
a
l
u
a
t
i
o
n
 
b
y
 
t
e
c
h
n
i
c
a
l
l
y
 
s
k
i
l
l
e
d
 
p
e
r
s
o
n
s
,
 
a
n
d
 
i
t

i
s
 
s
u
b
j
e
c
t
 
t
o
 
t
h
e
i
r
 
o
w

n
 
d
i
s
c
r
e
t
i
o
n
 
a
n
d
 
r
i
s
k
.

02



63 ... 273 mm

5
 
-
 
2
0
 
m

m
5
 
-
 
2
0
 
m

m

3

6

1

7

8

5

2

4

10 9

SECCIÓN VERTICAL

1:2,5 (A4)

LOWER CLADDING END REM..02.02

REV 08/18

SYSTEM STB-REM

1  STACBOND panel

2  Upright profile OMEGA

3  Spacer DOUBLE T

7  Blind rivet

8  Self-drilling screw

6  Though screw M 6 x 60/70

4  Crossbar profile OMEGA

5  Studs joining STB-REM

9  Auxiliar profile

10  Water drainage holes

11  Aluminium plate for fixing and riveting

www.stac.es© Sistemas Técnicos del Accesorio y Componentes, S.L.; Padrón 2018

CONSTRUCTION DETAILS

T
h
i
s
 
i
n
f
o
r
m

a
t
i
o
n
 
i
s
 
f
o
r
 
c
o
n
c
e
p
t
u
a
l

u
s
e
 
o
n
l
y
,
 
a
n
d
 
i
t
 
m

a
y
 
c
h
a
n
g
e
.

A
n
y
 
u
n
a
u
t
h
o
r
i
s
e
d
 
r
e
p
r
o
d
u
c
t
i
o
n
,
 
d
i
s
t
r
i
b
u
t
i
o
n
,
 
p
u
b
l
i
c

c
o
m

m
u
n
i
c
a
t
i
o
n
 
a
n
d
/
o
r
 
t
r
a
n
s
f
o
r
m

a
t
i
o
n
 
o
f
 
t
h
i
s
 
d
o
c
u
m

e
n
t

c
o
n
s
t
i
t
u
t
e
s
 
a
 
c
o
p
y
r
i
g
h
t
 
v
i
o
l
a
t
i
o
n
.

S
T

A
C

®

 
i
s
 
n
o
t
 
r
e
s
p
o
n
s
i
b
l
e
 
f
o
r
 
i
t
s
 
u
s
e
 
w

h
i
c
h
 
i
s
,
 
i
n
 
a
n
y
 
c
a
s
e
,

i
n
t
e
n
d
e
d
 
f
o
r
 
e
v
a
l
u
a
t
i
o
n
 
b
y
 
t
e
c
h
n
i
c
a
l
l
y
 
s
k
i
l
l
e
d
 
p
e
r
s
o
n
s
,
 
a
n
d
 
i
t

i
s
 
s
u
b
j
e
c
t
 
t
o
 
t
h
e
i
r
 
o
w

n
 
d
i
s
c
r
e
t
i
o
n
 
a
n
d
 
r
i
s
k
.

02



5
 
-
 
2
0
 
m

m

63 ... 273 mm

1

7

11

8

5

2

3

6

3 98 8

4

2

SECCIÓN VERTICAL

1:2,5 (A4)

PARAPET RETURN REM..03.01

REV 08/18

SYSTEM STB-REM

1  STACBOND panel

2  Upright profile OMEGA

3  Spacer DOUBLE T

7  Blind rivet

8  Self-drilling screw

6  Though screw M 6 x 60/70

4  Crossbar profile OMEGA

5  Studs joining STB-REM

9  Auxiliar profile

10  Water drainage holes

11  Aluminium plate for fixing and riveting

www.stac.es© Sistemas Técnicos del Accesorio y Componentes, S.L.; Padrón 2018

CONSTRUCTION DETAILS

T
h
i
s
 
i
n
f
o
r
m

a
t
i
o
n
 
i
s
 
f
o
r
 
c
o
n
c
e
p
t
u
a
l

u
s
e
 
o
n
l
y
,
 
a
n
d
 
i
t
 
m

a
y
 
c
h
a
n
g
e
.

A
n
y
 
u
n
a
u
t
h
o
r
i
s
e
d
 
r
e
p
r
o
d
u
c
t
i
o
n
,
 
d
i
s
t
r
i
b
u
t
i
o
n
,
 
p
u
b
l
i
c

c
o
m

m
u
n
i
c
a
t
i
o
n
 
a
n
d
/
o
r
 
t
r
a
n
s
f
o
r
m

a
t
i
o
n
 
o
f
 
t
h
i
s
 
d
o
c
u
m

e
n
t

c
o
n
s
t
i
t
u
t
e
s
 
a
 
c
o
p
y
r
i
g
h
t
 
v
i
o
l
a
t
i
o
n
.

S
T

A
C

®

 
i
s
 
n
o
t
 
r
e
s
p
o
n
s
i
b
l
e
 
f
o
r
 
i
t
s
 
u
s
e
 
w

h
i
c
h
 
i
s
,
 
i
n
 
a
n
y
 
c
a
s
e
,

i
n
t
e
n
d
e
d
 
f
o
r
 
e
v
a
l
u
a
t
i
o
n
 
b
y
 
t
e
c
h
n
i
c
a
l
l
y
 
s
k
i
l
l
e
d
 
p
e
r
s
o
n
s
,
 
a
n
d
 
i
t

i
s
 
s
u
b
j
e
c
t
 
t
o
 
t
h
e
i
r
 
o
w

n
 
d
i
s
c
r
e
t
i
o
n
 
a
n
d
 
r
i
s
k
.

03



5
 
-
 
2
0
 
m

m

63 ... 273 mm

3

6

1

7

8

5

2

4

SECCIÓN VERTICAL

1:2 (A4)

WINDOW HEAD REM..04.01

REV 08/18

SYSTEM STB-REM

1  STACBOND panel

2  Upright profile OMEGA

3  Spacer DOUBLE T

7  Blind rivet

8  Self-drilling screw

6  Though screw M 6 x 60/70

4  Crossbar profile OMEGA

5  Studs joining STB-REM

9  Auxiliar profile

10  Water drainage holes

11  Aluminium plate for fixing and riveting

www.stac.es© Sistemas Técnicos del Accesorio y Componentes, S.L.; Padrón 2018

CONSTRUCTION DETAILS

T
h
i
s
 
i
n
f
o
r
m

a
t
i
o
n
 
i
s
 
f
o
r
 
c
o
n
c
e
p
t
u
a
l

u
s
e
 
o
n
l
y
,
 
a
n
d
 
i
t
 
m

a
y
 
c
h
a
n
g
e
.

A
n
y
 
u
n
a
u
t
h
o
r
i
s
e
d
 
r
e
p
r
o
d
u
c
t
i
o
n
,
 
d
i
s
t
r
i
b
u
t
i
o
n
,
 
p
u
b
l
i
c

c
o
m

m
u
n
i
c
a
t
i
o
n
 
a
n
d
/
o
r
 
t
r
a
n
s
f
o
r
m

a
t
i
o
n
 
o
f
 
t
h
i
s
 
d
o
c
u
m

e
n
t

c
o
n
s
t
i
t
u
t
e
s
 
a
 
c
o
p
y
r
i
g
h
t
 
v
i
o
l
a
t
i
o
n
.

S
T

A
C

®

 
i
s
 
n
o
t
 
r
e
s
p
o
n
s
i
b
l
e
 
f
o
r
 
i
t
s
 
u
s
e
 
w

h
i
c
h
 
i
s
,
 
i
n
 
a
n
y
 
c
a
s
e
,

i
n
t
e
n
d
e
d
 
f
o
r
 
e
v
a
l
u
a
t
i
o
n
 
b
y
 
t
e
c
h
n
i
c
a
l
l
y
 
s
k
i
l
l
e
d
 
p
e
r
s
o
n
s
,
 
a
n
d
 
i
t

i
s
 
s
u
b
j
e
c
t
 
t
o
 
t
h
e
i
r
 
o
w

n
 
d
i
s
c
r
e
t
i
o
n
 
a
n
d
 
r
i
s
k
.

04



5
 
-
 
2
0
 
m

m

63 ... 273 mm

3

6

1

7

8

5

2

4

9

SECCIÓN VERTICAL

1:2 (A4)

WINDOW SILL REM..05.01

REV 08/18

SYSTEM STB-REM

1  STACBOND panel

2  Upright profile OMEGA

3  Spacer DOUBLE T

7  Blind rivet

8  Self-drilling screw

6  Though screw M 6 x 60/70

4  Crossbar profile OMEGA

5  Studs joining STB-REM

9  Auxiliar profile

10  Water drainage holes

11  Aluminium plate for fixing and riveting

www.stac.es© Sistemas Técnicos del Accesorio y Componentes, S.L.; Padrón 2018

CONSTRUCTION DETAILS

T
h
i
s
 
i
n
f
o
r
m

a
t
i
o
n
 
i
s
 
f
o
r
 
c
o
n
c
e
p
t
u
a
l

u
s
e
 
o
n
l
y
,
 
a
n
d
 
i
t
 
m

a
y
 
c
h
a
n
g
e
.

A
n
y
 
u
n
a
u
t
h
o
r
i
s
e
d
 
r
e
p
r
o
d
u
c
t
i
o
n
,
 
d
i
s
t
r
i
b
u
t
i
o
n
,
 
p
u
b
l
i
c

c
o
m

m
u
n
i
c
a
t
i
o
n
 
a
n
d
/
o
r
 
t
r
a
n
s
f
o
r
m

a
t
i
o
n
 
o
f
 
t
h
i
s
 
d
o
c
u
m

e
n
t

c
o
n
s
t
i
t
u
t
e
s
 
a
 
c
o
p
y
r
i
g
h
t
 
v
i
o
l
a
t
i
o
n
.

S
T

A
C

®

 
i
s
 
n
o
t
 
r
e
s
p
o
n
s
i
b
l
e
 
f
o
r
 
i
t
s
 
u
s
e
 
w

h
i
c
h
 
i
s
,
 
i
n
 
a
n
y
 
c
a
s
e
,

i
n
t
e
n
d
e
d
 
f
o
r
 
e
v
a
l
u
a
t
i
o
n
 
b
y
 
t
e
c
h
n
i
c
a
l
l
y
 
s
k
i
l
l
e
d
 
p
e
r
s
o
n
s
,
 
a
n
d
 
i
t

i
s
 
s
u
b
j
e
c
t
 
t
o
 
t
h
e
i
r
 
o
w

n
 
d
i
s
c
r
e
t
i
o
n
 
a
n
d
 
r
i
s
k
.

05



5
 
-
 
2
0
 
m

m

63 ... 273 mm

3

6

1

7

8

5

2

4

9

SECCIÓN VERTICAL

1:2 (A4)

WINDOW SILL REM..05.02

REV 08/18

SYSTEM STB-REM

1  STACBOND panel

2  Upright profile OMEGA

3  Spacer DOUBLE T

7  Blind rivet

8  Self-drilling screw

6  Though screw M 6 x 60/70

4  Crossbar profile OMEGA

5  Studs joining STB-REM

9  Auxiliar profile

10  Water drainage holes

11  Aluminium plate for fixing and riveting

www.stac.es© Sistemas Técnicos del Accesorio y Componentes, S.L.; Padrón 2018

CONSTRUCTION DETAILS

T
h
i
s
 
i
n
f
o
r
m

a
t
i
o
n
 
i
s
 
f
o
r
 
c
o
n
c
e
p
t
u
a
l

u
s
e
 
o
n
l
y
,
 
a
n
d
 
i
t
 
m

a
y
 
c
h
a
n
g
e
.

A
n
y
 
u
n
a
u
t
h
o
r
i
s
e
d
 
r
e
p
r
o
d
u
c
t
i
o
n
,
 
d
i
s
t
r
i
b
u
t
i
o
n
,
 
p
u
b
l
i
c

c
o
m

m
u
n
i
c
a
t
i
o
n
 
a
n
d
/
o
r
 
t
r
a
n
s
f
o
r
m

a
t
i
o
n
 
o
f
 
t
h
i
s
 
d
o
c
u
m

e
n
t

c
o
n
s
t
i
t
u
t
e
s
 
a
 
c
o
p
y
r
i
g
h
t
 
v
i
o
l
a
t
i
o
n
.

S
T

A
C

®

 
i
s
 
n
o
t
 
r
e
s
p
o
n
s
i
b
l
e
 
f
o
r
 
i
t
s
 
u
s
e
 
w

h
i
c
h
 
i
s
,
 
i
n
 
a
n
y
 
c
a
s
e
,

i
n
t
e
n
d
e
d
 
f
o
r
 
e
v
a
l
u
a
t
i
o
n
 
b
y
 
t
e
c
h
n
i
c
a
l
l
y
 
s
k
i
l
l
e
d
 
p
e
r
s
o
n
s
,
 
a
n
d
 
i
t

i
s
 
s
u
b
j
e
c
t
 
t
o
 
t
h
e
i
r
 
o
w

n
 
d
i
s
c
r
e
t
i
o
n
 
a
n
d
 
r
i
s
k
.

05



63 ... 273 mm

3

6

1

7

2

9

SECCIÓN VERTICAL

1:2 (A4)

WINDOW SILL REM..05.03

REV 08/18

SYSTEM STB-REM

1  STACBOND panel

2  Upright profile OMEGA

3  Spacer DOUBLE T

7  Blind rivet

8  Self-drilling screw

6  Though screw M 6 x 60/70

4  Crossbar profile OMEGA

5  Studs joining STB-REM

9  Auxiliar profile

10  Water drainage holes

11  Aluminium plate for fixing and riveting

www.stac.es© Sistemas Técnicos del Accesorio y Componentes, S.L.; Padrón 2018

CONSTRUCTION DETAILS

T
h
i
s
 
i
n
f
o
r
m

a
t
i
o
n
 
i
s
 
f
o
r
 
c
o
n
c
e
p
t
u
a
l

u
s
e
 
o
n
l
y
,
 
a
n
d
 
i
t
 
m

a
y
 
c
h
a
n
g
e
.

A
n
y
 
u
n
a
u
t
h
o
r
i
s
e
d
 
r
e
p
r
o
d
u
c
t
i
o
n
,
 
d
i
s
t
r
i
b
u
t
i
o
n
,
 
p
u
b
l
i
c

c
o
m

m
u
n
i
c
a
t
i
o
n
 
a
n
d
/
o
r
 
t
r
a
n
s
f
o
r
m

a
t
i
o
n
 
o
f
 
t
h
i
s
 
d
o
c
u
m

e
n
t

c
o
n
s
t
i
t
u
t
e
s
 
a
 
c
o
p
y
r
i
g
h
t
 
v
i
o
l
a
t
i
o
n
.

S
T

A
C

®

 
i
s
 
n
o
t
 
r
e
s
p
o
n
s
i
b
l
e
 
f
o
r
 
i
t
s
 
u
s
e
 
w

h
i
c
h
 
i
s
,
 
i
n
 
a
n
y
 
c
a
s
e
,

i
n
t
e
n
d
e
d
 
f
o
r
 
e
v
a
l
u
a
t
i
o
n
 
b
y
 
t
e
c
h
n
i
c
a
l
l
y
 
s
k
i
l
l
e
d
 
p
e
r
s
o
n
s
,
 
a
n
d
 
i
t

i
s
 
s
u
b
j
e
c
t
 
t
o
 
t
h
e
i
r
 
o
w

n
 
d
i
s
c
r
e
t
i
o
n
 
a
n
d
 
r
i
s
k
.

05



63 ... 273 mm

3

6

1

7

2

9

SECCIÓN VERTICAL

1:2 (A4)

WINDOW SILL REM..05.04

REV 08/18

SYSTEM STB-REM

1  STACBOND panel

2  Upright profile OMEGA

3  Spacer DOUBLE T

7  Blind rivet

8  Self-drilling screw

6  Though screw M 6 x 60/70

4  Crossbar profile OMEGA

5  Studs joining STB-REM

9  Auxiliar profile

10  Water drainage holes

11  Aluminium plate for fixing and riveting

www.stac.es© Sistemas Técnicos del Accesorio y Componentes, S.L.; Padrón 2018

CONSTRUCTION DETAILS

T
h
i
s
 
i
n
f
o
r
m

a
t
i
o
n
 
i
s
 
f
o
r
 
c
o
n
c
e
p
t
u
a
l

u
s
e
 
o
n
l
y
,
 
a
n
d
 
i
t
 
m

a
y
 
c
h
a
n
g
e
.

A
n
y
 
u
n
a
u
t
h
o
r
i
s
e
d
 
r
e
p
r
o
d
u
c
t
i
o
n
,
 
d
i
s
t
r
i
b
u
t
i
o
n
,
 
p
u
b
l
i
c

c
o
m

m
u
n
i
c
a
t
i
o
n
 
a
n
d
/
o
r
 
t
r
a
n
s
f
o
r
m

a
t
i
o
n
 
o
f
 
t
h
i
s
 
d
o
c
u
m

e
n
t

c
o
n
s
t
i
t
u
t
e
s
 
a
 
c
o
p
y
r
i
g
h
t
 
v
i
o
l
a
t
i
o
n
.

S
T

A
C

®

 
i
s
 
n
o
t
 
r
e
s
p
o
n
s
i
b
l
e
 
f
o
r
 
i
t
s
 
u
s
e
 
w

h
i
c
h
 
i
s
,
 
i
n
 
a
n
y
 
c
a
s
e
,

i
n
t
e
n
d
e
d
 
f
o
r
 
e
v
a
l
u
a
t
i
o
n
 
b
y
 
t
e
c
h
n
i
c
a
l
l
y
 
s
k
i
l
l
e
d
 
p
e
r
s
o
n
s
,
 
a
n
d
 
i
t

i
s
 
s
u
b
j
e
c
t
 
t
o
 
t
h
e
i
r
 
o
w

n
 
d
i
s
c
r
e
t
i
o
n
 
a
n
d
 
r
i
s
k
.

05



5 - 20 mm

6
3
 
.
.
.
 
2
7
3
 
m

m

17 43 28

SECCIÓN HORIZONTAL

1:2 (A4)

VERTICAL JOINT BIDIRECTIONAL REM..06.01

REV 08/18

SYSTEM STB-REM

1  STACBOND panel

2  Upright profile OMEGA

3  Spacer DOUBLE T

7  Blind rivet

8  Self-drilling screw

6  Though screw M 6 x 60/70

4  Crossbar profile OMEGA

5  Studs joining STB-REM

9  Auxiliar profile

10  Water drainage holes

11  Aluminium plate for fixing and riveting

www.stac.es© Sistemas Técnicos del Accesorio y Componentes, S.L.; Padrón 2018

CONSTRUCTION DETAILS

T
h
i
s
 
i
n
f
o
r
m

a
t
i
o
n
 
i
s
 
f
o
r
 
c
o
n
c
e
p
t
u
a
l

u
s
e
 
o
n
l
y
,
 
a
n
d
 
i
t
 
m

a
y
 
c
h
a
n
g
e
.

A
n
y
 
u
n
a
u
t
h
o
r
i
s
e
d
 
r
e
p
r
o
d
u
c
t
i
o
n
,
 
d
i
s
t
r
i
b
u
t
i
o
n
,
 
p
u
b
l
i
c

c
o
m

m
u
n
i
c
a
t
i
o
n
 
a
n
d
/
o
r
 
t
r
a
n
s
f
o
r
m

a
t
i
o
n
 
o
f
 
t
h
i
s
 
d
o
c
u
m

e
n
t

c
o
n
s
t
i
t
u
t
e
s
 
a
 
c
o
p
y
r
i
g
h
t
 
v
i
o
l
a
t
i
o
n
.

S
T

A
C

®

 
i
s
 
n
o
t
 
r
e
s
p
o
n
s
i
b
l
e
 
f
o
r
 
i
t
s
 
u
s
e
 
w

h
i
c
h
 
i
s
,
 
i
n
 
a
n
y
 
c
a
s
e
,

i
n
t
e
n
d
e
d
 
f
o
r
 
e
v
a
l
u
a
t
i
o
n
 
b
y
 
t
e
c
h
n
i
c
a
l
l
y
 
s
k
i
l
l
e
d
 
p
e
r
s
o
n
s
,
 
a
n
d
 
i
t

i
s
 
s
u
b
j
e
c
t
 
t
o
 
t
h
e
i
r
 
o
w

n
 
d
i
s
c
r
e
t
i
o
n
 
a
n
d
 
r
i
s
k
.

06



5 - 20 mm

6
3
 
.
.
.
 
2
7
3
 
m

m

6 173 2

SECCIÓN HORIZONTAL

1:2 (A4)

VERTICAL JOINT UNIDIRECTIONAL REM..06.01

REV 08/18

SYSTEM STB-REM

1  STACBOND panel

2  Upright profile OMEGA

3  Spacer DOUBLE T

7  Blind rivet

8  Self-drilling screw

6  Though screw M 6 x 60/70

4  Crossbar profile OMEGA

5  Studs joining STB-REM

9  Auxiliar profile

10  Water drainage holes

11  Aluminium plate for fixing and riveting

www.stac.es© Sistemas Técnicos del Accesorio y Componentes, S.L.; Padrón 2018

CONSTRUCTION DETAILS

T
h
i
s
 
i
n
f
o
r
m

a
t
i
o
n
 
i
s
 
f
o
r
 
c
o
n
c
e
p
t
u
a
l

u
s
e
 
o
n
l
y
,
 
a
n
d
 
i
t
 
m

a
y
 
c
h
a
n
g
e
.

A
n
y
 
u
n
a
u
t
h
o
r
i
s
e
d
 
r
e
p
r
o
d
u
c
t
i
o
n
,
 
d
i
s
t
r
i
b
u
t
i
o
n
,
 
p
u
b
l
i
c

c
o
m

m
u
n
i
c
a
t
i
o
n
 
a
n
d
/
o
r
 
t
r
a
n
s
f
o
r
m

a
t
i
o
n
 
o
f
 
t
h
i
s
 
d
o
c
u
m

e
n
t

c
o
n
s
t
i
t
u
t
e
s
 
a
 
c
o
p
y
r
i
g
h
t
 
v
i
o
l
a
t
i
o
n
.

S
T

A
C

®

 
i
s
 
n
o
t
 
r
e
s
p
o
n
s
i
b
l
e
 
f
o
r
 
i
t
s
 
u
s
e
 
w

h
i
c
h
 
i
s
,
 
i
n
 
a
n
y
 
c
a
s
e
,

i
n
t
e
n
d
e
d
 
f
o
r
 
e
v
a
l
u
a
t
i
o
n
 
b
y
 
t
e
c
h
n
i
c
a
l
l
y
 
s
k
i
l
l
e
d
 
p
e
r
s
o
n
s
,
 
a
n
d
 
i
t

i
s
 
s
u
b
j
e
c
t
 
t
o
 
t
h
e
i
r
 
o
w

n
 
d
i
s
c
r
e
t
i
o
n
 
a
n
d
 
r
i
s
k
.

06



5 - 20 mm

5
 
-
 
2
0
 
m

m

6
3
 
.
.
.
 
2
7
3
 
m

m

17 43 28 11

SECCIÓN HORIZONTAL

1:2,5 (A4)

OUTER CORNER REM..07.01

REV 08/18

SYSTEM STB-REM

1  STACBOND panel

2  Upright profile OMEGA

3  Spacer DOUBLE T

7  Blind rivet

8  Self-drilling screw

6  Though screw M 6 x 60/70

4  Crossbar profile OMEGA

5  Studs joining STB-REM

9  Auxiliar profile

10  Water drainage holes

11  Aluminium plate for fixing and riveting

www.stac.es© Sistemas Técnicos del Accesorio y Componentes, S.L.; Padrón 2018

CONSTRUCTION DETAILS

T
h
i
s
 
i
n
f
o
r
m

a
t
i
o
n
 
i
s
 
f
o
r
 
c
o
n
c
e
p
t
u
a
l

u
s
e
 
o
n
l
y
,
 
a
n
d
 
i
t
 
m

a
y
 
c
h
a
n
g
e
.

A
n
y
 
u
n
a
u
t
h
o
r
i
s
e
d
 
r
e
p
r
o
d
u
c
t
i
o
n
,
 
d
i
s
t
r
i
b
u
t
i
o
n
,
 
p
u
b
l
i
c

c
o
m

m
u
n
i
c
a
t
i
o
n
 
a
n
d
/
o
r
 
t
r
a
n
s
f
o
r
m

a
t
i
o
n
 
o
f
 
t
h
i
s
 
d
o
c
u
m

e
n
t

c
o
n
s
t
i
t
u
t
e
s
 
a
 
c
o
p
y
r
i
g
h
t
 
v
i
o
l
a
t
i
o
n
.

S
T

A
C

®

 
i
s
 
n
o
t
 
r
e
s
p
o
n
s
i
b
l
e
 
f
o
r
 
i
t
s
 
u
s
e
 
w

h
i
c
h
 
i
s
,
 
i
n
 
a
n
y
 
c
a
s
e
,

i
n
t
e
n
d
e
d
 
f
o
r
 
e
v
a
l
u
a
t
i
o
n
 
b
y
 
t
e
c
h
n
i
c
a
l
l
y
 
s
k
i
l
l
e
d
 
p
e
r
s
o
n
s
,
 
a
n
d
 
i
t

i
s
 
s
u
b
j
e
c
t
 
t
o
 
t
h
e
i
r
 
o
w

n
 
d
i
s
c
r
e
t
i
o
n
 
a
n
d
 
r
i
s
k
.

07



5 - 20 mm

5
 
-
 
2
0
 
m

m

6
3
 
.
.
.
 
2
7
3
 
m

m
63 ... 273 mm

17 43 2811

SECCIÓN HORIZONTAL

1:2,5 (A4)

INNER CORNER REM..08.01

REV 08/18

SYSTEM STB-REM

1  STACBOND panel

2  Upright profile OMEGA

3  Spacer DOUBLE T

7  Blind rivet

8  Self-drilling screw

6  Though screw M 6 x 60/70

4  Crossbar profile OMEGA

5  Studs joining STB-REM

9  Auxiliar profile

10  Water drainage holes

11  Aluminium plate for fixing and riveting

www.stac.es© Sistemas Técnicos del Accesorio y Componentes, S.L.; Padrón 2018

CONSTRUCTION DETAILS

T
h
i
s
 
i
n
f
o
r
m

a
t
i
o
n
 
i
s
 
f
o
r
 
c
o
n
c
e
p
t
u
a
l

u
s
e
 
o
n
l
y
,
 
a
n
d
 
i
t
 
m

a
y
 
c
h
a
n
g
e
.

A
n
y
 
u
n
a
u
t
h
o
r
i
s
e
d
 
r
e
p
r
o
d
u
c
t
i
o
n
,
 
d
i
s
t
r
i
b
u
t
i
o
n
,
 
p
u
b
l
i
c

c
o
m

m
u
n
i
c
a
t
i
o
n
 
a
n
d
/
o
r
 
t
r
a
n
s
f
o
r
m

a
t
i
o
n
 
o
f
 
t
h
i
s
 
d
o
c
u
m

e
n
t

c
o
n
s
t
i
t
u
t
e
s
 
a
 
c
o
p
y
r
i
g
h
t
 
v
i
o
l
a
t
i
o
n
.

S
T

A
C

®

 
i
s
 
n
o
t
 
r
e
s
p
o
n
s
i
b
l
e
 
f
o
r
 
i
t
s
 
u
s
e
 
w

h
i
c
h
 
i
s
,
 
i
n
 
a
n
y
 
c
a
s
e
,

i
n
t
e
n
d
e
d
 
f
o
r
 
e
v
a
l
u
a
t
i
o
n
 
b
y
 
t
e
c
h
n
i
c
a
l
l
y
 
s
k
i
l
l
e
d
 
p
e
r
s
o
n
s
,
 
a
n
d
 
i
t

i
s
 
s
u
b
j
e
c
t
 
t
o
 
t
h
e
i
r
 
o
w

n
 
d
i
s
c
r
e
t
i
o
n
 
a
n
d
 
r
i
s
k
.

08



5 - 20 mm

6
3
 
.
.
.
 
2
7
3
 
m

m

8 174 3 2 6

9

SECCIÓN HORIZONTAL

1:2,5 (A4)

WINDOW JAMB REM..09.01

REV 08/18

SYSTEM STB-REM

1  STACBOND panel

2  Upright profile OMEGA

3  Spacer DOUBLE T

7  Blind rivet

8  Self-drilling screw

6  Though screw M 6 x 60/70

4  Crossbar profile OMEGA

5  Studs joining STB-REM

9  Auxiliar profile

10  Water drainage holes

11  Aluminium plate for fixing and riveting

www.stac.es© Sistemas Técnicos del Accesorio y Componentes, S.L.; Padrón 2018

CONSTRUCTION DETAILS

T
h
i
s
 
i
n
f
o
r
m

a
t
i
o
n
 
i
s
 
f
o
r
 
c
o
n
c
e
p
t
u
a
l

u
s
e
 
o
n
l
y
,
 
a
n
d
 
i
t
 
m

a
y
 
c
h
a
n
g
e
.

A
n
y
 
u
n
a
u
t
h
o
r
i
s
e
d
 
r
e
p
r
o
d
u
c
t
i
o
n
,
 
d
i
s
t
r
i
b
u
t
i
o
n
,
 
p
u
b
l
i
c

c
o
m

m
u
n
i
c
a
t
i
o
n
 
a
n
d
/
o
r
 
t
r
a
n
s
f
o
r
m

a
t
i
o
n
 
o
f
 
t
h
i
s
 
d
o
c
u
m

e
n
t

c
o
n
s
t
i
t
u
t
e
s
 
a
 
c
o
p
y
r
i
g
h
t
 
v
i
o
l
a
t
i
o
n
.

S
T

A
C

®

 
i
s
 
n
o
t
 
r
e
s
p
o
n
s
i
b
l
e
 
f
o
r
 
i
t
s
 
u
s
e
 
w

h
i
c
h
 
i
s
,
 
i
n
 
a
n
y
 
c
a
s
e
,

i
n
t
e
n
d
e
d
 
f
o
r
 
e
v
a
l
u
a
t
i
o
n
 
b
y
 
t
e
c
h
n
i
c
a
l
l
y
 
s
k
i
l
l
e
d
 
p
e
r
s
o
n
s
,
 
a
n
d
 
i
t

i
s
 
s
u
b
j
e
c
t
 
t
o
 
t
h
e
i
r
 
o
w

n
 
d
i
s
c
r
e
t
i
o
n
 
a
n
d
 
r
i
s
k
.

09



6
3
 
.
.
.
 
2
7
3
 
m

m

8 174 3 2 6

7

5 - 20 mm

SECCIÓN HORIZONTAL

1:2,5 (A4)

WINDOW JAMB REM..09.02

REV 08/18

SYSTEM STB-REM

1  STACBOND panel

2  Upright profile OMEGA

3  Spacer DOUBLE T

7  Blind rivet

8  Self-drilling screw

6  Though screw M 6 x 60/70

4  Crossbar profile OMEGA

5  Studs joining STB-REM

9  Auxiliar profile

10  Water drainage holes

11  Aluminium plate for fixing and riveting

www.stac.es© Sistemas Técnicos del Accesorio y Componentes, S.L.; Padrón 2018

CONSTRUCTION DETAILS

T
h
i
s
 
i
n
f
o
r
m

a
t
i
o
n
 
i
s
 
f
o
r
 
c
o
n
c
e
p
t
u
a
l

u
s
e
 
o
n
l
y
,
 
a
n
d
 
i
t
 
m

a
y
 
c
h
a
n
g
e
.

A
n
y
 
u
n
a
u
t
h
o
r
i
s
e
d
 
r
e
p
r
o
d
u
c
t
i
o
n
,
 
d
i
s
t
r
i
b
u
t
i
o
n
,
 
p
u
b
l
i
c

c
o
m

m
u
n
i
c
a
t
i
o
n
 
a
n
d
/
o
r
 
t
r
a
n
s
f
o
r
m

a
t
i
o
n
 
o
f
 
t
h
i
s
 
d
o
c
u
m

e
n
t

c
o
n
s
t
i
t
u
t
e
s
 
a
 
c
o
p
y
r
i
g
h
t
 
v
i
o
l
a
t
i
o
n
.

S
T

A
C

®

 
i
s
 
n
o
t
 
r
e
s
p
o
n
s
i
b
l
e
 
f
o
r
 
i
t
s
 
u
s
e
 
w

h
i
c
h
 
i
s
,
 
i
n
 
a
n
y
 
c
a
s
e
,

i
n
t
e
n
d
e
d
 
f
o
r
 
e
v
a
l
u
a
t
i
o
n
 
b
y
 
t
e
c
h
n
i
c
a
l
l
y
 
s
k
i
l
l
e
d
 
p
e
r
s
o
n
s
,
 
a
n
d
 
i
t

i
s
 
s
u
b
j
e
c
t
 
t
o
 
t
h
e
i
r
 
o
w

n
 
d
i
s
c
r
e
t
i
o
n
 
a
n
d
 
r
i
s
k
.

09



5
 
-
 
2
0
 
m

m

5 - 20 mm

R

m

i
n

1

5

0

 
m

m

63 ... 273 mm

8 174 3 2 6

SECCIÓN HORIZONTAL

1:2,5 (A4)

ROUNDED CORNER REM..10.01

REV 08/18

SYSTEM STB-REM

1  STACBOND panel

2  Upright profile OMEGA

3  Spacer DOUBLE T

7  Blind rivet

8  Self-drilling screw

6  Though screw M 6 x 60/70

4  Crossbar profile OMEGA

5  Studs joining STB-REM

9  Auxiliar profile

10  Water drainage holes

11  Aluminium plate for fixing and riveting

www.stac.es© Sistemas Técnicos del Accesorio y Componentes, S.L.; Padrón 2018

CONSTRUCTION DETAILS

T
h
i
s
 
i
n
f
o
r
m

a
t
i
o
n
 
i
s
 
f
o
r
 
c
o
n
c
e
p
t
u
a
l

u
s
e
 
o
n
l
y
,
 
a
n
d
 
i
t
 
m

a
y
 
c
h
a
n
g
e
.

A
n
y
 
u
n
a
u
t
h
o
r
i
s
e
d
 
r
e
p
r
o
d
u
c
t
i
o
n
,
 
d
i
s
t
r
i
b
u
t
i
o
n
,
 
p
u
b
l
i
c

c
o
m

m
u
n
i
c
a
t
i
o
n
 
a
n
d
/
o
r
 
t
r
a
n
s
f
o
r
m

a
t
i
o
n
 
o
f
 
t
h
i
s
 
d
o
c
u
m

e
n
t

c
o
n
s
t
i
t
u
t
e
s
 
a
 
c
o
p
y
r
i
g
h
t
 
v
i
o
l
a
t
i
o
n
.

S
T

A
C

®

 
i
s
 
n
o
t
 
r
e
s
p
o
n
s
i
b
l
e
 
f
o
r
 
i
t
s
 
u
s
e
 
w

h
i
c
h
 
i
s
,
 
i
n
 
a
n
y
 
c
a
s
e
,

i
n
t
e
n
d
e
d
 
f
o
r
 
e
v
a
l
u
a
t
i
o
n
 
b
y
 
t
e
c
h
n
i
c
a
l
l
y
 
s
k
i
l
l
e
d
 
p
e
r
s
o
n
s
,
 
a
n
d
 
i
t

i
s
 
s
u
b
j
e
c
t
 
t
o
 
t
h
e
i
r
 
o
w

n
 
d
i
s
c
r
e
t
i
o
n
 
a
n
d
 
r
i
s
k
.

10



5 - 20 mm

8 174 3 2 6

9

SECCIÓN VERTICAL

1:2 (A4)

LATERAL CLADDING END REM..11.01

REV 08/18

SYSTEM STB-REM

1  STACBOND panel

2  Upright profile OMEGA

3  Spacer DOUBLE T

7  Blind rivet

8  Self-drilling screw

6  Though screw M 6 x 60/70

4  Crossbar profile OMEGA

5  Studs joining STB-REM

9  Auxiliar profile

10  Water drainage holes

11  Aluminium plate for fixing and riveting

www.stac.es© Sistemas Técnicos del Accesorio y Componentes, S.L.; Padrón 2018

CONSTRUCTION DETAILS

T
h
i
s
 
i
n
f
o
r
m

a
t
i
o
n
 
i
s
 
f
o
r
 
c
o
n
c
e
p
t
u
a
l

u
s
e
 
o
n
l
y
,
 
a
n
d
 
i
t
 
m

a
y
 
c
h
a
n
g
e
.

A
n
y
 
u
n
a
u
t
h
o
r
i
s
e
d
 
r
e
p
r
o
d
u
c
t
i
o
n
,
 
d
i
s
t
r
i
b
u
t
i
o
n
,
 
p
u
b
l
i
c

c
o
m

m
u
n
i
c
a
t
i
o
n
 
a
n
d
/
o
r
 
t
r
a
n
s
f
o
r
m

a
t
i
o
n
 
o
f
 
t
h
i
s
 
d
o
c
u
m

e
n
t

c
o
n
s
t
i
t
u
t
e
s
 
a
 
c
o
p
y
r
i
g
h
t
 
v
i
o
l
a
t
i
o
n
.

S
T

A
C

®

 
i
s
 
n
o
t
 
r
e
s
p
o
n
s
i
b
l
e
 
f
o
r
 
i
t
s
 
u
s
e
 
w

h
i
c
h
 
i
s
,
 
i
n
 
a
n
y
 
c
a
s
e
,

i
n
t
e
n
d
e
d
 
f
o
r
 
e
v
a
l
u
a
t
i
o
n
 
b
y
 
t
e
c
h
n
i
c
a
l
l
y
 
s
k
i
l
l
e
d
 
p
e
r
s
o
n
s
,
 
a
n
d
 
i
t

i
s
 
s
u
b
j
e
c
t
 
t
o
 
t
h
e
i
r
 
o
w

n
 
d
i
s
c
r
e
t
i
o
n
 
a
n
d
 
r
i
s
k
.

11



5 - 20 mm 5 - 20 mm

5
 
-
 
2

0
 
m

m

6
3

 
.
.
.
 
2

7
3

 
m

m

3

6

1

7

8

5

2

4

10 1 7 3 6 5 1 7 8 24

SECCIÓN VERTICAL

1:4 (A4)

CEILING REM..12.01

REV 08/18

SYSTEM STB-REM

1  STACBOND panel

2  Upright profile OMEGA

3  Spacer DOUBLE T

7  Blind rivet

8  Self-drilling screw

6  Though screw M 6 x 60/70

4  Crossbar profile OMEGA

5  Studs joining STB-REM

9  Auxiliar profile

10  Water drainage holes

11  Aluminium plate for fixing and riveting

www.stac.es© Sistemas Técnicos del Accesorio y Componentes, S.L.; Padrón 2018

CONSTRUCTION DETAILS

T
h
i
s
 
i
n
f
o
r
m

a
t
i
o
n
 
i
s
 
f
o
r
 
c
o
n
c
e
p
t
u
a
l

u
s
e
 
o
n
l
y
,
 
a
n
d
 
i
t
 
m

a
y
 
c
h
a
n
g
e
.

A
n
y
 
u
n
a
u
t
h
o
r
i
s
e
d
 
r
e
p
r
o
d
u
c
t
i
o
n
,
 
d
i
s
t
r
i
b
u
t
i
o
n
,
 
p
u
b
l
i
c

c
o
m

m
u
n
i
c
a
t
i
o
n
 
a
n
d
/
o
r
 
t
r
a
n
s
f
o
r
m

a
t
i
o
n
 
o
f
 
t
h
i
s
 
d
o
c
u
m

e
n
t

c
o
n
s
t
i
t
u
t
e
s
 
a
 
c
o
p
y
r
i
g
h
t
 
v
i
o
l
a
t
i
o
n
.

S
T

A
C

®

 
i
s
 
n
o
t
 
r
e
s
p
o
n
s
i
b
l
e
 
f
o
r
 
i
t
s
 
u
s
e
 
w

h
i
c
h
 
i
s
,
 
i
n
 
a
n
y
 
c
a
s
e
,

i
n
t
e
n
d
e
d
 
f
o
r
 
e
v
a
l
u
a
t
i
o
n
 
b
y
 
t
e
c
h
n
i
c
a
l
l
y
 
s
k
i
l
l
e
d
 
p
e
r
s
o
n
s
,
 
a
n
d
 
i
t

i
s
 
s
u
b
j
e
c
t
 
t
o
 
t
h
e
i
r
 
o
w

n
 
d
i
s
c
r
e
t
i
o
n
 
a
n
d
 
r
i
s
k
.

12


	Planos y vistas
	4. STB-REM - ENG-COVER
	4. STB-REM - ENG-REM.01.01
	4. STB-REM - ENG-REM.01.02
	4. STB-REM - ENG-REM.02.01
	4. STB-REM - ENG-REM.02.02
	4. STB-REM - ENG-REM.03.01
	4. STB-REM - ENG-REM.04.01
	4. STB-REM - ENG-REM.05.01
	4. STB-REM - ENG-REM.05.02
	4. STB-REM - ENG-REM.05.03
	4. STB-REM - ENG-REM.05.04
	4. STB-REM - ENG-REM.06.01
	4. STB-REM - ENG-REM.06.02
	4. STB-REM - ENG-REM.07.01
	4. STB-REM - ENG-REM.08.01
	4. STB-REM - ENG-REM.09.01
	4. STB-REM - ENG-REM.09.02
	4. STB-REM - ENG-REM.10.01
	4. STB-REM - ENG-REM.11.01
	4. STB-REM - ENG-REM.12.01


